13 Example

color | nuclei | tails
white 1 1
white 2 2
black 2 2
black 3 1
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14 Cobweb’s clustering hierarchy

Cy | P(Cy) = 1.0

attr  val P

tails 1 0.5

2 05

color white 0.5

black 0.5

nuclei 1 0.25

2 0.50

3 0.25
CyP(Cy) = 0.23 | C3| P(C3) = 0.5] |C4|P(C1) = 0.2
attr  val P attr  val P attr  val P
tails 1 1.0 tails 1 0.0 tails 1 1.0
2 0.0 2 1.0 2 0.0
color white 1.0] |color white 0.5| |[color white 0.0
black 0.0 black 0.5 black 1.0
nuclei 1.0 1.0| pnuclei 1.0 0.0| npuclei 1.0 0.0
2 0.0 2 1.0 2 0.0
3 0.0 3 0.0 3 1.0

C5|P(C5) = 0.23 | Cs|P(Cs) = 0.21
attr  val P attr  val P
tails 1 0.0 tails 1 0.0
2 1.0 2 1.0

color white 1.0| |color white 0.0
black 0.0 black 1.0

nuclei 1.0 0.0 npuclei 1.0 0.0
2 1.0 2 1.0

3 0.0 3 0.0
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